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Summary of Laws - Central Exam 2

Rectangle Triangle Parallelogram
A=Dbxh =Lxbxh A=bxh
= t =
T Th h h
1 H I
b b 2 b

Rectangular Prism

Triangular Prism

Pyramid

V =BhorV = (%bh)h

Pyramid

S.A.= 2lh + 2lw + 2hw

slant height
¢

area of the base

[S.A.= 1P+ B]

4— perimeter

P




Mean Median Mode
The value in the middle of
Mean =M of the data an ordered data set. Mode is the number or

numberofdatavalues

numbers that occur most
often.

The mean is most useful when the data has no outliers. The median is most useful when the data have
one or more outliers but no big gaps in the middle of the data. The mode is most useful when the data

have many identical numbers.

Range

Interquartile Range

dQR)

Outlier

Range = Greatest value — least value

IQR = Q3 — Q1

An outlier is a data value that
is either much greater or much
less than the median. Outliers
are more than 1.5 times the
value of the interquartile range
beyond the quartiles.

1. Find the mean

2. Find the absolute value of the differences between each value in the data set and the

mean.

3. Find the average of the absolute values of the differences between each value in the

data set and the mean.

Symmetric: The left side of the distribution looks like the right side.

Cluster: Data grouped closely together.

Gap: A number that does not have a data value.
Peak: The most frequently occurring value, or mode.
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Symmetric Not Symmetric

Center: SR Center: Spread:
Mean Me;gv?atﬁgrl]ute Median Interquartile Range
Or
Describing Different Shapes of Data Distributions
Choosing a Measure of Center Choosing a Measure of Spread
Symmetric » Mean Symmetric =P Mean Absolute Deviation(MAD)
Not Symmetric == Median Not Symmetric = IQR

Type Criteria
Box Plot Very large sets of data. Doesn’t show individual data
Histogram Tuﬂm Data is divided into equal intervals
Line Graph Shows the change over time
Line Plot - 23ixf <¥x Shows the frequency of individual data values
Categorical data
Bar Graph




